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Listening Comprehension Band Three

TEST 1
Part I Listening Comprehension (20 points, 20 minutes)
Section A: Spot Dictation (5 points)
(A)

Directions: In this section you will hear 5 sentences. Each will be spoken only ONCE.

Supply the missing word according to what you hear.

1. It the doctor what caused the infection of the patient’s wound.

2. He talks about the matter in a tone as if he were not interested in
it. v

3. Effective measures have been taken to the rate of economic growth

in the coastal region.

4. Tt seems that the of my ambitions is still a dream after years of
hard working.

5. A new bridge has been built across the river for the convenience of

on both banks.

(B)

Directions: In this section you will hear 5 sentences. Each will be spoken only ONCE.
Supply the missing phrase according to what you hear.

6. You are wrong to think that everything should you.

7. Don’t worry about the winter supplies; I have already them.

8. As he was waiting for the bill, he wondered how much it had :
9. The charity organization will never anyone who is in need of help.
10. Such a marriage would sooner or later divorce.

Section B: Mini—Dialegs (5 points)

Directions: In this section you will hear 5 short conversations. Each conversation will be
spoken ONCE. At the end of the conversation, a question will be asked about
what was said. After you hear the question, complete the answer to it.

11. The woman might be to speak at the meeting.

12. The conversation takes place :




13. The woman wants to get a job as a

14. The meeting began at

15. They want John to after school.

Section C: Short Passages (10 points)

Directions: In this section you will hear 2 short passages. Each passage will be spoken
ONCE. After the passage, you will hear five questions. Complete the answer
to each question according to what you hear.

Passage One

16. He wanted to be .

17. He couldn’t to study.
18. His wife was dead and his children

19. He told them that he wanted to

20. He read books and

Passage Two

21. They get it [rom various people through

22. They are doctors,
23. They are
24. Their .
25. in Philadelphia.

TEST 2

Part I Listening Comprehension (15 points, 20 minutes)

Section A (2. 5 points)

Directions: In this section you will hear 5 sentences with numbers in them. When you hear
a sentence, read the four choices of numbers in your test paper and decide
which one is what you have just heard. Then, mark your answer by
blackening the corresponding letter on the Answer Sheet.

Ezample . f
You will hear: The Zip Code of Newark is 94560 and that of Portland
is 06480.
You will read:a. 94560, 06840
b. 49560, 60840
¢. 49506, 60480



d. 94560, 06480
The correct answer is “d”. So you should blacken the letter “d” on the
Answer Sheet.
1. a. 966 — 0380, 9226 b. 916 — 0380, 9262
c. 960 — 0380, 9226 d. 906 — 0318. 9226
2. a. July 17, 1818; 150 b. June 17, 1880; 150
c. June 7, 1880; 150 d. June 17, 1880; 115
3. a. six, March 1494 b. sixteen, March 1994
c. fifteen, May 1994 d. nineteen, May 1494
4. a. $ 950, $ 3,950 b. $ 915, $ 3,950
c. $ 950, $ 3,915 d. $ 915, $ 3,915
5. a. $ 18 million b. $ 85 million

c.. $ 80 million d. $ 84 million

Section B (2. 5 points)

Directions: In this section you will hear 5 short statements. The statements will be spoken
just once. When you hear a statement, read the four sentences in your test
paper and decide which one is closest in meaning to the statement you have
just heard s Then, markyour answer by blackening the corresponding letter on
the Answer Sheet.

Example
You will hear: I ran into an old friend at the restaurant.
You will read: a. I rushed into the restaurant with an old friend.
b. I met an old friend by chance at the restaurant.
¢. My friend ran into the restaurant to meet me.
d. My friend and I ran into the restaurant together.
The correct answer is “b”. So you should blacken the letter “b” on the
Answer Sheet.
After Ross bought the company, stafl members were at ease.
. Ross’ control over the company made the staff uneasy.

It’s easy for Ross to take over the company.

ﬂ.pc-?

. Ross was uneasy about the company and the staff.

Three students were made to remain behind as a punishment.

Then s

Three students were locked inside because they did something wrong.

2

Three students were asked to stay in the classroom during the music lesson.

A

Not behaving properly, three students were driven out of the class.
8. a. You made him change his mind, so you saved him a lot of trouble.

b. He changed his mind and saved a lot of trouble.



You made him change his mind, which brought him a lot of trouble.
. As you failed to change his mind, he was in trouble.

. The man booked a table in the little back room.

et
o ® o 0

. The man booked four tables in the main room.

. The man prefers a table in the main room.

(o]

d. The man would rather have a table in the little back room.
10. a. I’ve mastered German, French and Japanese.
b. T can speak German and French and I'm now learning Japanese.
C. I talk Japanese only.

d. I prefer to learn German and French.

Section C (10 points)

Directions: In this section you will hear 2 short passages. After each passage you will be
asked some questions. The passage will be spoken twice. When you hear a
question, read the four possible answers in your test paper and decide which
one is the best answer to the question you have heard. Then, mark your

answer by blackening the corresponding letter on the Answer Sheet.
Passage One

Questions 11 to 15 are based on the passage you have just heard.

11. When he was about thirteen years old.

o

Yesterday.
About thirteen years ago.

When he was in the army.

B oa o

123 Because it was valuable. Because it was worthless.
Because it was new.
13. a. At home.

c. In his desk.

14. a. The coin was a farthing.

(2]
.

Because it was near.

At school.

In his trousers.

The coin was small and shining.
. The coin was of small value.
Indifferently.

In a sentimental way.

c. The coin was invaluable.

15. a. Pretentiously.

T

c. In a friendly way.
Passage Two

Questions 16 to 20 are based on the passage you have just heard.
16. a. Processing animal food. b. Selling pet animals.
c. Building pet cemeteries. d. Running pet hospitals.
17. a. To make more money.
o4



b. To increase food varieties.
c. To keep pets’ teeth in good condition.
d. To improve food flavor.
18. a. In the countryside. b. In large cities.
c. In San Francisco. d. In pet cemeteries.
19. a. Pet cemetery owners. b. Pet food processors.
c. Pet owners. d. Pet doctors.
20. a. To show their love for pets.

a
b. To show their wealth.

To make sure their pets will have good care.

0
.

=%

. To win others’ respect.

TEST 3

Part I Listening Comprehension (15 points, 20 minutes)

Section A (2. 5 points)

Directions: In this section you will hear 5 sentences with numbers in them. When you hear
a sentence, read the four choices of numbers in your test paper and decide
which one is what you have just heard. Then, mark your answer by
blackening the corresponding letter on the Answer Sheet.

Example ;
You will hear: The Zip Code of Newark is 94560 and that of Portland
is Q6480.
You will read: a. 94560, 06840
b. 49560, 60840
c. 49506, 60480
d. 94560, 06480
The correct answer is “d”. So you should blacken the letter “d” on the

Answer Sheet.

1. a. 1960; 8,305,974 b. 1970; 8,035,479
c. 1980; 8,350,947 d. 1990; 8,350,749
2. a. 183 17:15 b. 19; 15:15
c. 17; 18.15 d. 15; 19:15
3. a. 16% 20% b. 9% 11 %
c. 29% 32 % d. 19% 22%
4. a. 73 50 b, 14; 70
c. 5; 50 d. 15; 70



c. You made him change his mind, which brought him a lot of trouble.

d. As you failed to change his mind, he was in trouble.
9. a. The man booked a table in the little back room.
b. The man booked four tables in the main room.

¢. The man prefers a table in the main room.

d. The man would rather have a table in the little back room.

10. a.
b.
G-
d.

I’ve mastered German, French and Japanese.
I can speak German and French and I’'m now learning Japanese.
I talk Japanese only.

I prefer to learn German and French.

Section C (10 points)
Directions: In this section you will hear 2 short passages. After each passage you will be

asked some questions. The passage will be spoken twice. When you hear a
question s read the four possible answers in your test paper and decide which
one is the best answer to the question you have heard. Then, mark your

answer by blackening the corresponding letter on the Answer Sheet.

Passage One

Questions 11 to 15 are based on the passage you have just heard.

11. a. When he was about thirteen years old.
b. Yesterday.
¢. About thirteen years ago.
d. When he was in the army.
12. a. Because it was valuable. b. Beecause it was worthless.
c. Because it was new. d. Because it was near.
13. a. At home. b. At school.
c. In his desk. d. In his trousers.
14. a. The coin was a farthing. b. The coin was small and shining.
c. The coin was invaluable. d. The coin was of small value.
15. a. Pretentiously. b. Indifferently.
c. In a friendly way. d. In a sentimental way.

Passage Two

Questions 16 to 20 are based on the passage you have just heard.

16. a.
C.
Nsas

Processing animal food. b. Selling pet animals.
Building pet cemeteries. d. Running pet hospitals.

To make more money.

4.



b. To increase food varieties.
c. To keep pets’ teeth in good condition.
d. To improve food flavor.
18. a. In the countryside. b. In large cities.
c. In San Francisco. d. In pet cemeteries.
19. a. Pet cemetery owners. b. Pet food processors.
c. Pet owners. d. Pet doctors.
20. a. To show their love for pets. '

a
b. To show their wealth.

To make sure their pets will have good care.

(g

=%

. To win others’ respect.

TEST 3

Part I Listening Comprehension (15 points, 20 minutes)

Section A (2. 5 points)

Directions: In this section you will hear 5 sentences with numbers in them. When you hear
a sentence, read the four choices of numbers in your test paper and decide
which one is what you have just heard. Then, mark your answer by
blackening the corresponding letter on the Answer Sheet.

Ezxample .
You will hear; The Zip Code of Newark is 94560 and that of Portland
is Q6480.
You will read : a. 94560, 06840
b. 49560, 60840
¢, 49506, 60480
d. 94560, 06480
The correct answer is “d”. So you should blacken the letter “d” on the

Answer Sheet.

1. a. 1960; 8,305,974 b. 1970; 8,035,479
c. 1980; 8,350,947 d. 1990; 8,350,749
2.-a. 183 17:15 b. 19; 15:15
c. 17; 18:15 d. 15; 19:15
3. a. 16% 20% b. 9% 11 %
c. 29% 32 % d. 19% 22%
4. a. 7; 50 b. 14; 70
¢. D3 50 d. 163 70



19. a. He tried to make the doctor take pity on him.

20.

b.

c.

AR -8

He wanted to save 50p.

He was the doctor’s good friend.

. He didn’t have enough money with him.

George got some good medicine {rom the doctor.

. The doctor examined him carefully.

George managed to save 50p.

. The doctor knew that he had never seen George before.

TEST 4

Part 1 Listening Comprehension (15 points, 20 minutes)
Section A (2. 5 points)

Directions: In this section, you will hear 5 sentences with numbers in them. When you

. March 2, 1923; 2,990

hear a sentence, read the four choices of numbers in your test paper and
decide which one is what you have just heard. Then, mark your answer by
blackening the corresponding letter on the Answer Sheet.
Example
You will hear: The Zip Code of Newark is 94560 and that of Portland
is 06480.
You will read: a. 94560, 06840
b. 49560, 60840
c. 49506, 60480
d. 94560, 06480

The correct answer is “d”. So you should blacken the letter “d” on the

”

Answer Sheet. :

March 6, 1913; 2,919
March 6, 1943; 2,919
570; 15 minutes.

517; 15 minutes

March 2, 1933; 2,990
570; 50 minutes
507; 50 minutes

se g

10:49; 12:38
12:49; 10,38
19165 70%

the 1960s; 17%
10,5505 9,815
10,515; 8,915

s B

e g e

10:39; 12:49

112:39; 10:49

the 1960s; 70%
1970; 60%

10,050; 8,950
10,5505 95850



Section B (2. 5 points)

Directions : In this section you will hear 5 short statements. The statements will be spoken
just once. When you hear a statement, read the four sentences in your test
paper and decide which one is closest in meaning to the statement you have
just heard. Then. mark your answer by blackening the corresponding letter
on the Answer Sheet.

Ezxample ;
You will hear; I ran into an old [riend at the restaurant.
You will read: a. I rushed into the restaurant with an old friend.
b. I met an old [riend by chance at the restaurant.
c. My friend ran into the restaurant to meet me.
d. My friend and I ran into the restaurant together.
The correct answer is “b”. So you should blacken the letter “b” on the
Answer Sheet.

It is possible for us to buy a new car now.

e

We don’t have enough money to buy a new car.

We can borrow a new car right away.

e o

Right now it’s impossible for us to find a good car.

She must have [inished the novel by now.

2

She can never finish the novel.

It’s impossible for her to have [inished the novel.

8. o

It’s possible that she has already [inished the novel.
Tom is very impolite.
Tom has many friends.

Tom’s friends are impolite to him.

B .0 D

A lot more friends would come to Tom’s party.
9. a. She did not help me.
b. T arrived there on time without her help.
c. She helped me to arrive there on time.
d. Ididn’t arrive there on time though she helped me.
10. a. Miss White will be working here in another two weeks.
b. Miss White will be working here for another two weeks.
c. Miss White will be here in three years.

d. Miss White has been here for nearly three years.

Section C (10 points)
Directions: In this section you will hear 2 short passages. After each passage you will be
asked some questions. The passages will be read twice. When you hear a

* Qe



question s read the four possible answers in your test paper and decide which
one is the best answer to the question you have heard. Then, mark your

answer by blackening the corresponding letter on the Answer Sheet.

Passage Ohe

Questions 11 to 15 are based on the passage you have just heard.

11. a. At all restaurants. | b. At any eating place.

12.

13.

14.

C.
a.

c. Both beef and pork.

a

O

. They are very popular.

. Bean, lettuce, toast and soup.

. To create a special vocabulary.

At “fast-food” restaurants.
Beef.

At all kinds of shops.
Pork.

Sauces and vegetables.
They are also called “franks”. . They can be made from pork.

They are served on round bread rolls.
Bread, lettuce and tomato sauce. Beef, lettuce, tea and sandwich.
Bacon, lettuce and tomato sandwich.

To attract more customers. To place an order quickly.

Ra e B OB PRtk B O i

To increase their popularity.

Passage Two

Questions 16 to 20 are based on the passage you have just heard.

16. a.

. In two weeks’time.

)

18.

19.

20.

o

[ - P

n

g o o B

B Ao TP Ao

After his family comes to America.

After they set up their new business.

. In seven days.

They are going on a honeymoon in the Caribbean.

. The man is going out to work and the wife will stay home to raise a family.
They only have two weeks for a holiday.

. They are not going to have a honeymoon.

They are hard to understand.

. They are old but enthusiastic.

They are used to old customs.

They are strongly against the young couple’s marriage.

Christopher. : b. Samantha.
Christopher’s mother. d. Chritopher’s father.

They are going to work hard to get their business started.

. They are going to have children immediately.

They are going to make new friends.

. They are going to enjoy themselves for a while.

+ 10 «



TEST 5

Part I Listening Comprehension (20 points, 20 minutes)
Section A: Spot Dictation (5 points)

(A)

Directions: In this section you will hear 5 sentences. Each will be spoken only ONCE.
Supply the missing word according to what you hear.
1. The new flat he has just bought cost him $

2. Tom is now staying at Hilton Hotel, and his telephone number is

The hurricane destroyed 2, 355 houses and people became

homeless.

4. Chicago is the second largest in population in America, with

inhabitants.
5. We’ll arrive on Wednesday on Flight

(B)
Directions: In this section you will hear 5 sentences. Each will be spoken only ONCE.
Supply the missing phrase according to what you hear.
He our house during our vacation last summer.
The children the festival.

Your remarks were rather

e X AE

If you ever Ted Clark, call the police.

10. As we turned round the street, an old brick house

Section B: Mini-dialogs (5 points)

Directions: In this section you will hear 5, short conversations. Each conversation will be
spoken ONCE. At the end of the conversation, a question will be asked about
what was said. After you hear the question, complete the answer to it.

11. The woman wants to the project.

12. The woman suggests that the man check if the radio
13. He hopes that he can find

14. The man failed to in time.

15. This talk probably takes place

Section C: Short Passages (10 points)
Directions; In this section you will hear 2 short passages. Each passage will be spoken
ONCE. After the passage, you will hear five questions. Complete the answer
. 11 .



